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N = 0 & A
20159 &= 204 EFHBIIZAELEEESH EH CHe A M)
20F- 522 - ALY - AALS (S H) O AF oM HE T O] At Hps2 pa—
==k
= Al 17,449,387 15,523,788 1,925,599 12.40%
= 5,897,000
o= 356,900
= 11,195,487
AL 16,097,117 14,282,381 1,814,736 12.71%
= 5,897,000
& 356,900
= 9,843,217
MEES 0 0 0 0.00%
SHAE A A 1,352,270 1,241,407 110,863 8.93%
BtAES 16,097,117 14,282,381 1,814,736 12.71%
= 5,897,000
& 356,900
= 9,843,217
Mot - =2 13,111,700 11,417,900 1,693,800 14 .83%
= 5,603,000
& 345,000
= 7,163,700
ot=& &2 13,111,700 11,417,900 1,693,800 14 .83%
= 5,603,000
= 345,000
= 7,163,700
ot HAEH L SX(EBHIZANLEELESH) 5,856,000 3,954,000 1,902,000 48.10%
= 3,994,000
= 1,862,000
=H=0ISotS=S A2 (S#HIZALEESESH) 2,299,000 2,481,000 A 182,000 AT .34%
= 1,609,000
= 345,000
= 345,000
SHHJIZAE 2tel - 2E(HAIIZANLEELHS 4,956,700 4,982,900 N 26,200 AN0.53%
)
Ho|2 2,985,417 2,864,481 120,936 4.22%
= 294,000
& 11,900
= 2,679,517
HIl= XS 2,985,417 2,864,481 120,936 4.22%
= 294,000
=} 11,900
= 2,679,517
HA HY(SBIZANEESEHZH) 831,297 692,321 138,976 20.07%
= 294,000
& 11,900
= 525,397
HII2 XelAE SH(SHIIZAILZELESAH) 2,154,120 2,172,160 A 18,040 AN0.83%
JIEt 1,352,270 1,241,407 110,863 8.93%
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20k 22 - HAAIY - SAAH(3IH) Ol &F oA SE T Ofl At HwE2 e
So=
= 1,352,270 1,241,407 110,863 8.93%
HY2HZH (#E =2 1) 1,352,270 1,241,407 110,863 8.93%
QlARAH|(BHEIIZAESES ) 1,352,270 1,241,407 110,863 8.93%




